Fii) P

)= 79D
7 P b1 p dond NI

-

Prn:{e Octe) RN ¢
| t= |

= UOG) - [Te Tt dt
- [ cetdta jm et dt

. b ) -
=-ey =—[¢ 4S’L *e/s
- l-e-* |

S‘Z

DI E)?

R
Z
1}
r‘rl\*"\
w/\

é -t) H(t- :)
10 E<
I-E =)

= £F =B+ L( (-8 Hit-1D)

4 e awian

Z (fle-a> H(b-a)
= ~as Ll

2 K- L) et e

= -‘/S" - %Sl e*$<\
(=8

Zg- Ssin 30) = 4 L) —5 £ 3t) 67 2

= 4. (?/33) - 5. (3/(3‘4-‘1)>
Z() = 342
ZLlw3t) = 3/({‘-(—_‘1)

= g/5‘5 - B449)




2- 399
O® PN

L(e® 5, p2e™) = o5 £le1y), Z(te3) >

Z(Flt)ear) ~ @U{s S0y
Lie ) = (s ad

Z( Fle-2) H(E-2)
Fle-2)=1t e
fib=t+2 <=

= L(FEY). e
Z01) Ten &

e, (LI+2
o2 (\/s@— +'2/3>

L HE-2)) =

wa—
—

-
P

LUEHIR) —da (k) 2omie PR

Zleltny =— &L,
-~ (e)
;f(H{t*os))—'-'- eﬂqs/g

= (‘26/ + € 2:("/5.1)_)
T e (o)




- 499

S _ S

ko2
TZs2 GaR)s-1)
_ A »
S é—

S = Al-1)+B(s+R) ¥

ss1: 1=4B ] pen
.Sz—-Z; ~3_=

~4A A=y
- S — ~ O E W
L (S‘+23~3> = L (=E ;—-,) ‘
= 3 e Y ef v L(e) = ‘/(&\q;)
G+ 8,20, Q
s“ g%
= ~+ 3/3’1 ~% %3 -+ l/.S\».t-
= j’,((gj“’)z = | +3t+ F 2+ % (’)
(Zle = )
! o &>
(-S +¢S - -Z';C (? B 874 q‘> R —
= £~ ( o) kL)~ g 27 7))
=W &t -k snl
iq(edséz) = ’—f-‘c/‘f) /b»é-z H&-2) <

QF(M) H(t-a) = e"“.{)

F(t~2)" Hee-2)

{ O £E<2
4(e-2) t=z2

]

fl




4-Fp

'+ 59+ 4y=0 x 3
Lly)=sZl)-yl0) <= ylo) = | —
=sZly) ~I y'(0) =0
2(y") = sdly)-y)
= s*Z[y)~s Z

(B2 -5 )+ 5 (s2Lly)~1)+4<LLy)=0

= (%4 Gs44)4ly) =~ 545

= — s+ S
29 ~ e, g

s+ 5 A R

T G ey Sl “Q_HSL

Sa~[ : 4 = 3A } =  s455Ab+)4B(s+)) D/D

s=~4: | = ~3RK
A=%, B= <4 .  Zlyy = 22 — &
=> y = %3 et - ¥
Z) =—s L61)->(Q = 526 x''+ 16>t =(os gt A
L) = s L w)-2'(0) = stdb)-] < > (o) = O

~(0) = )
Z

st~ + 16Z(x) = ~ lj/é
=> é"—t— 16) Z(x) = [ 451—;3-12_
= _
26 = S’-Hé + 16)2
=> -t ~1
*~ L& 14) +2 (Qslﬂ )

= Ju sinét 4 ;/J@"é/lé)")




5- 7>

- D e PAD

S \ y
16y =~} %<s+ié) Pk PR

=7 (D) = 4t (TR Z(eA)= -2

= % t . K% sinqt

T : A ?R
Sfel6 sS4 )6

S -
(s2+16) |
= 17w’ 3 = f"(’!—/‘“e) x«f"(f{éu‘s) Zf)~4-%

= x4t x K shdt

= éL Cos Yu siny 41E=0D du

= % L5 sin Gk sin (G (ew ~4u) oluj
ﬁ“\ws/x-f L (s (a0 Sin {/y&D

/3 [ Usin 4t + Y& cos (4b~2u)]i_b

= % [(tsfhékt) + % (CDSQ#)-COSMH)]
g\o_\___)

= B tsinde

—
—




£-Jo

l”+’é’>\:pﬂ) _é
;f(x’):si(x)nﬂ.fO)?-S‘{(’) = ~0) = O
26U = s L6 -210) =S1F o)~ /(D) = |
7
F(t)={&>s 4 Ost<Tr L) -1+ 162 = Z(F)
O k=T |
=@sdt ~ s b6 Bl ~T)
= 4t ~ vos =T Hib-Tr)
_ S ~T& S ‘
:;>°{p~sz—+l§ - & \S~sz+lé v
f e 20D
Zlevsat)= A= ST

SR SRR 1-5“’ S
T sule (M0 (4l e)*

Z(glt-) Hit-2d) =e g

= X = -2;3\‘h4t

4.t
e Al 3 6o

Ser)= £ 627 () L e sinde-T) HEE-)
4 (9ct-1r) Ht-TM) = “@,\\/’ SN

(4+ %)gw\ 4t Oct<Tl
(& +T8) sindt  t>T




/- 392

Qe PN
F(E): (@) oﬁ-t\(l 9(+y____ f“:)] l
5 t>l yloy=>0
T 7z
Fe=5H (t-1) Ay) =s2y-g (0
:_g'?’g

sy + dy= Lf = Se*x

— 5 ~S
> Y= - 8
Yy = L) * S LR
7\ .
/
5 . &5_5
SEAD T S T osa

=[50-eY] % o)
=5(l-e ) H(é~D

=10 O£ t<|
{5C l-e'Y  L2z]
e — T
/ > \ 6 \
[g(l') ™ g[b—l>] = L 9(3) g(t_S_D Cls\
= [g-0) t-1> 0
e -1 <O

= glt-1) Hit-1)

=_5 - .
24 = sy @7 B R
= = i"’ S / ' N
i(g((:-q) H(t«oﬂ):é“ﬂig‘ I (SKD‘> eon by Hie=1y)
S (25D e RGO

= 5(!*“6‘*) [b—»'fk‘-—-) Hib=1)
= 35( l-e'™) Hie-))

- e



